

PROPERTIES OF A SEQUENCE SPACE $l(s, t)$

E. G. KWON

ABSTRACT. Elementary properties of the sequence space $l(s, t)$ are studied with applications to Hardy space theory.

1. Introduction

Let N be the set of nonnegative integers. Corresponding to a sequence $a = \{a_k\}_{k \in N}$ and $0 < s, t < \infty$, we define

$$\|a\|_{(s,t)} = \left\{ \sum_{n \in N} \left(\sum_{k \in I_n} |a_k|^s \right)^{t/s} \right\}^{1/t},$$

where

$$I_n = \begin{cases} \{k \in N; 2^{n-1} \leq k < 2^n\}, & n > 0 \\ \{0\}, & n = 0. \end{cases}$$

When s or t is ∞ , $\|a\|_{(s,t)}$ is defined also by use of corresponding suprema.

We say that $a = \{a_k\}_{k \in N}$ belongs to the set $l(s, t)$ if $\|a\|_{(s,t)} < \infty$. Of course, $l(s, s) = l^s$. $l(s, t)$ is a Banach space equipped with the norm $\|\cdot\|_{(s,t)}$ if $1 \leq s, t \leq \infty$. When $u = \min(s, t) < 1$, $l(s, t)$ is a Fréchet space equipped with the translation invariant metric $\|a - b\|_{(s,t)}^u$ for $a, b \in l(s, t)$. See [5] for $l(s, t)$ spaces.

Let $H(D)$ denote the set of all holomorphic functions defined on the open unit disc $D = \{z : |z| < 1\}$ of the complex plane. If $f(z) = \sum_{k \in N} a_k z^k \in H(D)$, then its sequence of Taylor coefficients $\{a_k\}_{k \in N}$,

Received November 27, 1996.

1991 Mathematics Subject Classification: Primary 40A25, Secondary 30D55.

Key words and phrases: $l(s, t)$ space, Hardy space.

This work was partially supported by BSRI 97-1411.

denoted in this paper by f^\wedge , is uniquely determined and vice versa, so that we can identify f with f^\wedge .

Let A and B be two sets of complex sequences and $a = \{a_k\}_{k \in \mathbb{N}} \in A$, $b = \{b_k\}_{k \in \mathbb{N}} \in B$. Then we denote $\{a_k b_k\}_{k \in \mathbb{N}}$ by $a * b$ and $\{a * b : a \in A, b \in B\}$ by $A * B$. We use the following conventions throughout this paper: For β real and $a = \{a_k\}_{k \in \mathbb{N}}$, we denote

$$(I^\beta)^\wedge = \{(k + 1)^{-\beta}\}_{k \in \mathbb{N}}, \quad I^\beta a = (I^\beta)^\wedge * a,$$

and

$$I^\beta A = \{I^\beta a : a \in A\}.$$

Of course, $I^\beta f^\wedge = (I^\beta f)^\wedge$ if $f \in H(D)$, where $I^\beta f$ denotes the fractional integral (or derivative) of f of order β . See [4]. We denote, $r^\wedge = \{r^k\}_{k \in \mathbb{N}}$ and $f_r(z) = f(rz)$, for $0 \leq r \leq 1$ and $z \in D$, so that for example, $f_r^\wedge = f^\wedge * r^\wedge$. Also throughout, $C(p, q, ..)$ denotes a positive constant depending only on $p, q, ..$ not necessarily the same at each occurrence, and p' denotes the conjugate exponent of $p : p + p' = pp'$ if $1 \leq p \leq \infty$.

The purpose of this note is to study basic properties of the sequence space $l(s, t)$ that may be applicable to the researches of the related fields. Our main result is the following, which may seem a little bit striking at the first glance.

THEOREM 1. *For $0 < p < \infty$, $0 < s \leq \infty$, $0 < t \leq \infty$ and $-1 < \alpha < \infty$, there is a positive constant $C = C(p, s, t, \alpha)$ such that for any function $f(z) = \sum_{k \in \mathbb{N}} a_n z^n \in H(D)$ the following holds :*

$$\frac{1}{C} \int_0^1 (1 - r)^\alpha \|f_r^\wedge\|_{(s,s)}^p dr \leq \int_0^1 (1 - r)^\alpha \|f_r^\wedge\|_{(s,t)}^p dr \leq C \int_0^1 (1 - r)^\alpha \|f_r^\wedge\|_{(s,s)}^p dr.$$

The point of Theorem 1 is that the quantities are independent of the index t . After describing some elementary properties of $l(s, t)$, Theorem 1 will be proven in Section 3 with more equivalent quantities. There are some consequences of Theorem 1 in Section 4.

2. Elementary properties of $l(s, t)$

THEOREM 2. *For a sequence $\{a_n\}$, the followings hold.*

(1) Let $0 < \gamma < \infty$. Then

$$\sum_1^M n^\gamma |a_n|^\gamma = O(M^\gamma)$$

if and only if $\{a_n\} \in l(\gamma, \infty)$.

(2) Let $0 < \alpha < \infty$, $-\infty < \beta < \infty$ and $0 < s, t \leq \infty$. Then

$$\{|a_n|^\alpha\} \in I^\beta l(s, t)$$

if and only if

$$\{a_n\} \in I^{\frac{\beta}{\alpha}} l(\alpha s, \alpha t).$$

(3) Let $0 \leq \alpha < \infty$, $0 < \beta, \gamma < \infty$. Then

$$\sum_{n=1}^M n^\alpha |a_n|^\beta = O(M^\gamma)$$

if and only if

$$\{a_n\} \in I^{(\alpha-\gamma)/\beta} l(\beta, \infty).$$

(4) Let $0 < \alpha \leq \infty$ and $0 < s, t \leq \infty$. Then

$$I^\alpha l(s, t) \subset l\left(\frac{s}{\alpha s + 1}, t\right).$$

(5) Let $0 < \alpha < \infty$, $0 < s \leq 1/\alpha$ and $0 < t \leq \infty$. If $|a_1| \geq |a_2| \geq \dots \geq 0$, then $\{a_n\} \in l(s, t)$ if and only if

$$\{n^\alpha a_n\} \in l\left(\frac{s}{1 - s\alpha}, t\right)$$

with the understanding that $s/(1 - s\alpha) = \infty$ if $s\alpha = 1$.

Proof. (1) : If $\{a_n\}$ satisfies

$$\sum_1^M n^\gamma |a_n|^\gamma = O(M^\gamma),$$

then

$$\sum_{k \in I_n} |a_k|^\gamma \leq 2^{-(n-1)\gamma} \sum_{k \in I_n} k^\gamma |a_k|^\gamma = O(1).$$

Thus $\{a_n\} \in l(\gamma, \infty)$. Conversely, if

$$\sum_{I_n} |a_k|^\gamma \leq C < \infty$$

then

$$\sum_{I_n} k^\gamma |a_k|^\gamma \leq 2^{\gamma n} C$$

for $n = 0, 1, 2, \dots$. Hence, if $M \in I_m$ then

$$\begin{aligned} \sum_{n=1}^M n^\gamma |a_n|^\gamma &\leq \sum_{n=1}^m \sum_{k \in I_n} k^\gamma |a_k|^\gamma \\ &\leq \sum_{n=1}^m 2^{\gamma n} C \\ &= O(M^\gamma). \end{aligned}$$

(2) : Obvious by definition.

(3) : By (1),

$$\sum_{n=1}^M n^\gamma (n^{-1+\alpha/\gamma} |a_n|^{\beta/\gamma})^\gamma = \sum_{n=1}^M n^\alpha |a_n|^\beta = O(M^\gamma)$$

if and only if

$$\{n^{-1+\alpha/\gamma} |a_n|^{\beta/\gamma}\} \in l(\gamma, \infty).$$

This is equivalent to

$$\{|a_n|^{\beta/\gamma}\} \in I^{(\alpha-\gamma)/\gamma} l(\gamma, \infty)$$

by definition, which is in turn equivalent to

$$\{a_n\} \in I^{(\alpha-\gamma)/\beta} l(\beta, \infty)$$

by (2).

(4) : It is easy to see that

$$(I^\alpha)^\wedge = \{(n+1)^{-\alpha}\} \in l\left(\frac{1}{\alpha}, \infty\right),$$

so that

$$I^\alpha l(s, t) \subset l\left(\frac{1}{\alpha}, \infty\right) * l(s, t).$$

Hölder's inequality gives

$$l\left(\frac{1}{\alpha}, \infty\right) * l(s, t) \subset l(u, t),$$

where $u = s/(\alpha s + 1)$. Indeed, if $a = \{a_n\} \in l\left(\frac{1}{\alpha}, \infty\right)$ and $b = \{b_n\} \in l(s, t)$, $0 < s, t < \infty$, then

$$\begin{aligned} \|a * b\|_{(u,t)}^t &= \sum_n \left(\sum_{k \in I_n} |a_k b_k|^u \right)^{t/u} \\ &\leq \sum_n \left(\sum_{I_n} |a_k|^{1/\alpha} \right)^{\alpha t} \left(\sum_{I_n} |b_k|^s \right)^{t/s} \\ &\leq \|a\|_{(1/\alpha, \infty)}^t \|b\|_{(s,t)}^t; \end{aligned}$$

Similar pattern also holds when s or t is ∞ .

(5) : We may assume $a_n \geq 0$, $n = 1, 2, \dots$. If we assume

$$\{n^\alpha a_n\} \in l\left(\frac{s}{1-s\alpha}, t\right),$$

then

$$\{a_n\} = \{n^{-\alpha}\} * \{n^\alpha a_n\} \in I^\alpha l\left(\frac{s}{1-s\alpha}, t\right) \subset l(s, t)$$

by (4) in the last containment . Conversely, if we assume $\{a_n\} \in l(s, t)$, $0 < t < \infty, 0 < s < \frac{1}{\alpha}$, and set $s/(1 - s\alpha) = u$ then

$$\begin{aligned} \sum_{n=1}^{\infty} \left(\sum_{k \in I_n} k^{\alpha u} a_k^u \right)^{t/u} &\leq \sum_{n=1}^{\infty} 2^{\alpha t n} \left(\sum_{k \in I_n} a_k^u \right)^{t/u} \\ &\leq 2^{\alpha t} \sum_{n=1}^{\infty} (2^n a_{2^n}^s)^{t/s} \\ &\leq 2^{\alpha t + (t/s)} \sum_n \left(\sum_{k \in I_n} a_k^s \right)^{t/s} \\ &< \infty, \end{aligned}$$

where we used the hypothesis $|a_1| \geq |a_2| \dots$ in the third inequality. When u or t is ∞ , the same proof also holds by replacing the corresponding summations by suprema. □

3. Proof of main result

We recall the following useful result.

THEOREM A. ([7]) *If $0 < p < \infty, 0 < \alpha < \infty, a_n \geq 0, t_n = \sum_{k \in I_n} a_k$, and $f(x) = \sum_1^{\infty} a_n x^n$, then there is a $C = C(p, \alpha)$ such that*

(1)
$$\frac{1}{C} \sum_1^{\infty} 2^{-n\alpha} t_n^p \leq \int_0^1 (1-x)^{\alpha-1} f(x)^p dx \leq C \sum_1^{\infty} 2^{-n\alpha} t_n^p.$$

(2) (1) remains valid if t_n is replaced by S_{2^n} , where $S_n = \sum_1^n a_k$.

(3)
$$\frac{1}{C} \sum_1^{\infty} n^{-(\alpha+1)} S_n^p \leq \int_0^1 (1-x)^{\alpha-1} f(x)^p dx \leq C \sum_1^{\infty} n^{-(\alpha+1)} S_n^p.$$

For two real valued functions F and G , we say that F and G are equivalent if there is a constant C which is independent on b of the domain of definition such that $\frac{1}{C}F(b) \leq G(b) \leq CF(b)$.

Using our new language, Theorem A can be expressed as

THEOREM B. *Let $0 < p < \infty$ and $0 < \alpha < \infty$. Then any two of the following quantities are equivalent as functions of sequences $f^\wedge = \{a_n\}_{n=1}^\infty$.*

$$\begin{aligned}
 F &:= \|I^{\alpha/p} f^\wedge\|_{(1,p)}^p \\
 G &:= \sum_1^\infty 2^{-n\alpha} \left(\sum_{k=1}^{2^n} |a_k| \right)^p \\
 H &:= \sum_1^\infty n^{-(\alpha+1)} \left(\sum_{k=1}^n |a_k| \right)^p \\
 I &:= \int_0^1 (1-r)^{\alpha-1} \|f_r^\wedge\|_{(1,1)}^p dr.
 \end{aligned}$$

Now Theorem 1 and Theorem B are parts of the following, where emphasis should be given at the point that the quantities are independent on the index t .

THEOREM 3. *Let $0 < p < \infty$, $-1 < \alpha < \infty$ and $0 < s, t \leq \infty$. Then any two of the following quantities are equivalent as functions of sequences $f^\wedge = \{a_n\}_{n=1}^\infty$.*

$$\begin{aligned}
 J &:= \|I^{(\alpha+1)/p} f^\wedge\|_{(s,p)}^p \\
 K &:= \sum_1^\infty 2^{-n(\alpha+1)} \left(\sum_{k=1}^{2^n} |a_k|^s \right)^{p/s} \\
 L &:= \sum_1^\infty n^{-(\alpha+2)} \left(\sum_{k=1}^n |a_k|^s \right)^{p/s} \\
 M &:= \int_0^1 (1-r)^\alpha \|f_r^\wedge\|_{(s,s)}^p dr \\
 P &:= \int_0^1 (1-r)^\alpha \|f_r^\wedge\|_{(s,t)}^p dr
 \end{aligned}$$

with the obvious understanding of K and L when $s = \infty$.

Proof. We may assume $a_n \geq 0, n = 1, 2, \dots$. First assume $s, t < \infty$. By Theorem B, we are suffice to prove that there exists $C = C(s, t, p, \alpha)$ such that

$$J \leq CP \leq CK.$$

If we set $r_n = 1 - 2^{-n}, n = 1, 2, \dots$ then it follows that

$$\begin{aligned} P &= \int_0^1 (1-r)^\alpha \|f_r^\wedge\|_{(s,t)}^p dr \\ &\geq \sum_{n=1}^\infty \int_{r_n}^{r_{n+1}} (1-r)^\alpha \|f_r^\wedge\|_{(s,t)}^p dr \\ &\geq \sum_{n=1}^\infty (r_{n+1} - r_n) (1 - r_{n+1})^\alpha \left\{ \sum_{m=1}^\infty \left(\sum_{k \in I_m} |a_k r_n^k|^s \right)^{t/s} \right\}^{p/t} \\ &\geq 2^{-(\alpha+1)} \sum_{n=1}^\infty 2^{-(\alpha+1)n} \left(\sum_{k \in I_n} |a_k|^s \right)^{p/s} (r_n^{2^n})^p \\ &\geq 2^{-(\alpha+1)-p} \| \{ k^{-(\alpha+1)/p} a_k \} \|_{(s,p)}^p \\ &\geq C(p, \alpha) J, \end{aligned}$$

where we used that $r_n^{2^n} \geq \frac{1}{2}$ in the last inequality.

Next, if we set $b_n = (\sum_1^n a_k^s)^{t/s}$ and $\gamma = \min(\frac{t}{2}, 1)$ then

$$\|f_r^\wedge\|_{(s,t)}^p = \| \{ a_n r^n \} \|_{(s,t)}^p \leq \left(\sum_1^\infty b_{2^n} r^{\gamma 2^n} \right)^{p/t}.$$

Since b_n is nondecreasing,

$$b_{2^n} (r^\gamma)^{2^n} \leq 2^{1-n} \sum_{k \in I_n} b_k r^{\gamma k} \leq 2 \sum_{k \in I_n} k^{-1} b_k r^{\gamma k},$$

so that $\|f_r^\wedge\|_{(s,t)}^p$ is bounded by

$$\left(2 \sum_1^\infty n^{-1} b_n r^{\gamma n} \right)^{p/t}.$$

Thus, by use of the fact that $\gamma \leq 1$ and that $(1 - r^{1/\gamma}) \leq \frac{1}{\gamma}(1 - r)$, $0 \leq r \leq 1$, we have

$$\begin{aligned} P &\leq \int_0^1 (1 - r)^\alpha \left(2 \sum_1^\infty n^{-1} b_n r^{\gamma n} \right)^{p/t} dr \\ &\leq 2^{p/t} \int_0^1 (1 - r^{1/\gamma})^\alpha \left(2 \sum_1^\infty n^{-1} b_n r^n \right)^{p/t} r^{1/\gamma - 1} dr \\ &\leq C(\alpha, \gamma) \int_0^1 (1 - r)^\alpha \left(2 \sum_1^\infty n^{-1} b_n r^n \right)^{p/t} dr. \end{aligned}$$

Hence, by Theorem A-(1),

$$P \leq C(p, t, \alpha) \sum_{n=1}^\infty 2^{-n(\alpha+1)} \left(\sum_{k \in I_n} k^{-1} b_k \right)^{p/t}.$$

Now, an application of Hölder's inequality gives

$$\begin{aligned} \sum_{k \in I_n} k^{-1} b_k &= \sum_{k \in I_n} k^{-1} \left(\sum_{j=1}^k a_j^s \right)^{p/s} \\ &\leq \left(\sum_{k \in I_n} k^{-1} \right) \left(\sum_{j=1}^{2^n} a_j^s \right)^{p/s} \leq \left(\sum_{j=1}^{2^n} a_j^s \right)^{p/s}. \end{aligned}$$

Therefore $P \leq C(p, t, \alpha)K$. Our method of proof remains true when s or t is ∞ . The proof is complete. □

4. Applications

To give illustrations, we introduce some definitions. For $-1 < \alpha$, $0 < p < \infty$, $0 < q < \infty$, $H^q = H^q(D)$ and $A^{p,q,\alpha} = A^{p,q,\alpha}(D)$ denote the space of those functions f holomorphic in D satisfying

$$\|f\|_q = \sup_{0 \leq r < 1} M_q(r, f) < \infty$$

and

$$\|f\|_{p,q,\alpha}^p = \int_0^1 (1-r)^\alpha M_q(r, f)^p dr < \infty$$

respectively, where

$$M_q(r, f) = \left\{ \int_0^{2\pi} |f(re^{i\theta})|^q \frac{d\theta}{2\pi} \right\}^{1/q}.$$

The Hardy space H^p can be considered as the limiting case of the weighted Bergman space $A^{p,\alpha} = A^{p,p,\alpha}$ as $\alpha \rightarrow -1$. They are Banach spaces when $1 \leq p, q < \infty$ and Fréchet spaces when $\min(p, q) < 1$. See [1] and [2] for H^p spaces and $A^{p,q,\alpha}$ spaces.

Now, the following follows almost directly from Theorem 3. It improves [6, Theorem 1].

THEOREM 4. *There are constants $C = C(p, q, \alpha)$ satisfying the followings respectively.*

(1) *If $1 \leq q \leq 2$ and $f \in A^{p,q,\alpha}(D)$, then*

$$\|I^{(\alpha+1)/p} f^\wedge\|_{(q',p)} \leq C \|f\|_{p,q,\alpha}.$$

(2) *If $2 \leq q < \infty$ and $b \in I^{-(\alpha+1)/p} l(q', p)$, then $f(z) = \sum b_k z^k \in A^{p,q,\alpha}(D)$ and*

$$\|f\|_{p,q,\alpha} \leq C \|I^{(\alpha+1)/p} b\|_{(q',p)}.$$

Proof. For (1), first apply Hausdorff-Young Theorem to $f_r \in H^p$, $0 < r < 1$, to obtain

$$\|f_r^\wedge\|_{(q',q')} \leq M_q(r, f),$$

then integrate p power of both sides with respect to $(1-r)^\alpha dr$ and apply the equivalence of J and M in Theorem 3 to obtain (1). Similar way gives (2). □

Here we have another application in order to illustrate the independence on t of the quantities in Theorem 3, where we set $(H^p)^\wedge = \{f^\wedge : f \in H^p\}$.

THEOREM 5. *Let $0 < s \leq \infty$ and $0 < p < \infty$. If $(H^p)^\wedge \subset l(s, \infty)$ then $(H^p)^\wedge \subset l(s, \max(p, 2))$. If $(H^p)^\wedge \supset l(s, \infty)$ then $(H^p)^\wedge \supset l(s, \max(p, 2))$.*

Proof. We only prove the first half left the similar second. Let $q = \max(p, 2)$. Since $(H^p)^\wedge \subset l(s, \infty)$, by the closed graph theorem, there is a C independent of f such that

$$\|f^\wedge\|_{(s, \infty)} \leq C \|f\|_p, \quad f \in H^p.$$

In particular,

$$\|(f'_r)^\wedge\|_{(s, \infty)} \leq C M_p(r, f'), \quad 0 < r < 1.$$

Now, integrating q power of the both sides with respect to $(1-r)^{q-1} dr$ gives

$$\int_0^1 (1-r)^{q-1} \|(f'_r)^\wedge\|_{(s, \infty)}^q dr \leq C \int_0^1 (1-r)^{q-1} M_p(r, f')^q dr.$$

By the equivalence of J and P in Theorem 3, the left side is equivalent to $\|f^\wedge\|_{(s, q)}^q$, while the right side integral is, by the Minkowski's inequality in continuous form, at most the q/p power of

$$\int_0^{2\pi} \left\{ \int_0^1 (1-r)^{q-1} |f'(re^{i\theta})|^q dr \right\}^{p/q} \frac{d\theta}{2\pi},$$

which is, by Littlewood-Paley type inequality (see [3]), at most $C(p, q) \|f\|_p^q$. Therefore we have

$$\|f^\wedge\|_{(s, q)} \leq C \|f\|_p, \quad f \in H^p$$

for some C independent on f . □

If Λ is a bounded linear operator from H^p into $l(s, t)$ satisfying the property

$$\Lambda(f_r) = \Lambda(f) * r^\wedge, \quad 0 < r < 1,$$

then $\Lambda(H^p) \subset l(s, \max(p, 2))$. This (and its dual result) follows by a way similar to that in the proof of Theorem 5.

References

- [1] P. R. Ahern and M. Jevtic, *Duality and multipliers for mixed norm spaces*, Michigan Math. J. **30** (1983), 53-63.
- [2] P. L. Duren, *Theory of H^p spaces*, Academic Press, New York, 1970.
- [3] T. M. Flett, *Mean values of power series*, Pacific J. Math. **25** (1968), 463-494.
- [4] ———, *The dual of an inequality of Hardy and Littlewood and some related topics*, J. Math. Anal. and Appl. **38** (1972), 742-765.
- [5] C. N. Kellog, *An extension of the Hausdorff - Young Theorem*, Michigan Math. J. **18** (1971), 121-127.
- [6] E. G. Kwon, *A note on the coefficients of mixed normed spaces*, Bull. Austral. Math. Soc. **33** (1986), 253-260.
- [7] M. Mateljevic and M. Pavlovic, *L^p - behavior of power series with positive coefficients and Hardy spaces*, Proc. of A. M. S. **87** (1983), 309-316.

Department of Mathematics
Andong National University
Andong 760 - 749, Korea